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Matching
Sheet 1

Ring the number of pennies for each coin. Write the total at the side.

TW
O PENCE

2

1

O
NE PENNY

1

O
NE PENNY

1

O
NE PENNY

1

O
NE PENNY

1
O

NE PENNY

1

O
NE PENNY

1

O
NE PENNY

1

O
NE PENNY

1

O
NE PENNY

1

O
NE PENNY

_day1

1

O
NE PENNY

1

O
NE PENNY

1

O
NE PENNY

1

O
NE PENNY

1

O
NE PENNY

1

O
NE PENNY

1

O
NE PENNY

1

O
NE PENNY

1
O

NE PENNY

1

O
NE PENNY

FI

VE PENCE

5

1

O
NE PENNY

1

O
NE PENNY

1

O
NE PENNY

1

O
NE PENNY

1

O
NE PENNY

1

O
NE PENNY

1

O
NE PENNY

1

O
NE PENNY

1

O
NE PENNY

1

O
NE PENNY

TE

N PENCE

10



© Hamilton Trust practice_money-time_1249

Matching
Sheet 1 continued

Ring the number of pennies for each pair of coins. Write the total at the side.
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Challenge

Tom has 2 coins.  Tilly has 4 coins. They have the same amount of money! 
What could their coins be? Find more than one answer! 
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Matching
Sheet 2

Ring the number of pennies for each group of coins. Write the total at the side.
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Challenge

Tom has 2 coins.  Tilly has 4 coins. They have the same amount of money! 
What could their coins be? Find more than one answer! 
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Matching
Sheet 3

Ring the number of pennies for each pair of coins. Write the total at the side.
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Challenge
Tom has 2 coins.  Tilly has 4 coins. They have the same amount of money! 
What could their coins be? Find more than one answer! 
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Coins
Sheet 1

Choose one coin from each set. Add these together.
Write a matching addition, e.g. 1p + 1p = 2p.
Repeat at least 4 times.
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Challenge

Write the coins in the empty boxes.

+	    +	        = 5p		      +	        +  	   +	      = 10p


